Qi
Simplify

(1) &xcb

(ii) e+ ¢*

Simplify fully

Simplify.

Algebra - Simplifying

Tx — 2(x — 3y) — 4y

2xy — 3xy + 4xy

--------------------------------

--------------------------------

--------------------------------

(1)



Algebra - Simplifying

Q2

Simplify.

() Sy+2y

(i) 4w+3z-2w+ 2z

Simplify.

(i) 6r-2r

(i) 7v+5w+3v+w

(1)

2)

(1)

2)



Algebra - Simplifying

Q1
Simplify
S+L
(i) S Xk = e i
C
S e et e S e I T P
(i) e'2+¢* = & .
e
)
Simplify fully ~ 7x - 2(x — 3y) - 4y
= 7DC - 2x -l—'éﬂj —-A.j
= Sx + Zj
5% + Zj
3)
Simplify.
2xy — 3xy + 4xy
=20 xj

(1)



Algebra - Simplifying
Q2

Simplify.
() Sy+2y = 7j
(1)
(i) dw+3z-2w+ 2z
= 2w +472
(2)
Simplify.
(i) 6r-2r = 4 r
(1)

(i) 7v+5w+3v+w

= ]Ov+éw

2)



